450 EXC-F SIX DAYS 2017 <2017><US><F8475Q2>

TANK, SEAT
17444
Pos Part Number Description Additional Text Quantity

2 77407011000 screw, seat M5 1.00
7 78007000270 PVC-hose 5.6X10X270MM 1.00
8 78107008044 X4 TANK PLUG CPL. 14 1.00
12 7900711314499 FUEL TANK KPL. USA 17 1.00
14 50307014000 TANK ROLLER 12X26X12 '98 3.00
18 0014050123 HH COLLAR SCREW M 5X12 WS=6 8.00
22 51030022000 ANGLE PIECE 90 DEGREE M10X1 1.00
35 79607040000 SEAT SIXDAYS 17 1.00
36 0025060206 HH collar screw M6x20 TX30 2.00
38 79607040050 SEAT COVER SIXDAYS 17 1.00
50 7900805400028C SPOILER KIT SIXDAYS 2017 WITH DECAL 1.00




52 79608052000 BUSH 6X11X16X5 MM 4.00
61 0025060166 HH collar screw M6x16 TX30 4.00
62 0025060126 HH collar screw M6x12 TX30 3.00




